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(b) The sum of three numbers is 2. If twice the second 3 ‘, JUL 2023 Your Roll No...,
number is added to the sum of first and third, the

sum is 2. By adding second and third number to Sr. No. of Question Paper : 1846

five times the first number, we get 6. Find the

thlee numbers (Using inverse of matrix by high- Ui, Baper Cods el S
Speed matrix algebra) Name of the Paper : Vedic Mathematics 11 —
U ST 2 v 1 afe el e el e Name of the course : Value Addition Course
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) Instructions for Can didates

1. Write your Roll No. on the top immediately on receipt
4. (a) Given that in a right-angled triangle, the hypotenuse

is 17 and the sum of other two sides is 23. What of this question paper.

1s the length of the base and altitude?
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2. Question No. 1 is compulsory.

a oSy & Gnr 23 2| YR 3k T F waE . 3. Answer any two questions from question nos, 2 to 4.
7
# j 4. All questions carry equal marks.
(b) Formulate the equation of the line passing through 5. Uss of caloalutors ig not allewsd.
Iwo points through ( 1, 2) and ( 3, 4).
A e ¥ Bew A A Y THFT =Y 6.  Mention the Vedic Mathematics Sutra and Subsustra

(1,2) and ( 3, 4) used 1o solve the question.
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7. Answers may be written either in English or Hindi but
the same medium should be used throughout the

paper.
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1. Attempt any four of the following:
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(a) What is the Sammuccaye in the equation 9x + 9
= Tt 72
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b) S | f s 2XEY . 2x+7
(b} bolve TOL S our — 2xt8

(c) Find x and y such that 5x = 4y + 20 and
10 3= 40 '

(d) Find the length of the perpendicular from (2, 3) to

y = 4x

(e) Solve for x : g — Ay le=2)= (&~ 3] lo—4)
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(a) Find the determinant of [—3 g 1 1
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(b) Explain the concept to convert an isosceles triangle

equal in area to a given square.
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(a) Solve the system of equations x — 2y = 4, and
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